
0, 13:

COOR

1: x1 20

x010

x030

x020

x10 10

x2 40

x2 50

x2 10

x2 20

x2 30

x8 20

x3 40

x8 10

x3 10

x3 30

x3 20

x4 20

x4 30

x4 10

x5 40

x5 30

x5 20

x5 10

x7 10

x7 20

x9 30

x9 20

x9 10

x6 10

x1 10

2: y1 2c0

y1 3c0

y8 1c0

y9 1c0

y7 1c0

3: y7 1c0 3: y8 2c0

13: x1 1∗

x03∗

x1 2∗

x02∗

x3 4∗

x3 3∗

x3 2∗

x3 1∗

x10 1∗

x9 1∗

x9 3∗

x9 2∗

x6 1∗

x8 1∗

x8 2∗

x5 4∗

x5 1∗

x5 3∗

x5 2∗

x2 4∗

x2 5∗

x2 2∗

x2 3∗

x01∗

x2 1∗

x7 2∗

x7 1∗

x4 1∗

x4 2∗

x4 3∗

1, 12 → 2:

Sys-OPT

4: x03

x1 1

x02

x01

x1 2

5: x01

x03

x7 2

x7 1

x02

7: x9 1

x9 3

x9 2

x03

x02

x01

4: x4 1

x4 2

x4 3

x03

x02

x01

5: x03

x02

x01

x6 1

6: x03

x10 1

x01

x02

7: x01

x03

x8 1

x8 2

x02

10: x2 2

x2 3

x2 1

x2 4

x2 5

x03

x02

x01

10: x5 1

x5 3

x5 2

x5 4

x03

x02

x01

10: x03

x02

x01

x3 3

x3 2

x3 1

x3 4

11: x9 1

x9 3

x9 2

x8 1

x8 2

x5 4

x7 2

x7 1

x1 1

x1 2

x03

x02

x01

x3 3

x3 2

x3 1

x6 1

x3 4

x2 2

x2 3

x2 1

x2 4

x2 5

x5 1

x5 3

x5 2

x10 1

x4 1

x4 2

x4 3

11: x9 1

x9 3

x9 2

x8 1

x8 2

x5 4

x7 2

x7 1

x1 1

x1 2

x03

x02

x01

x3 3

x3 2

x3 1

x6 1

x3 4

x2 2

x2 3

x2 1

x2 4

x2 5

x5 1

x5 3

x5 2

x10 1

x4 1

x4 2

x4 3

11: x9 1

x9 3

x9 2

x8 1

x8 2

x5 4

x7 2

x7 1

x1 1

x1 2

x03

x02

x01

x3 3

x3 2

x3 1

x6 1

x3 4

x2 2

x2 3

x2 1

x2 4

x2 5

x5 1

x5 3

x5 2

x10 1

x4 1

x4 2

x4 3

11: x9 1

x9 3

x9 2

x8 1

x8 2

x5 4

x7 2

x7 1

x1 1

x1 2

x03

x02

x01

x3 3

x3 2

x3 1

x6 1

x3 4

x2 2

x2 3

x2 1

x2 4

x2 5

x5 1

x5 3

x5 2

x10 1

x4 1

x4 2

x4 3

2, 9 → 3:

Sys-CONV
5: y8 1c 5: y1 3c

6: y7 1c,vi2

y1 2c

y9 1c

3, 6 → 4:

Sub-CONV-0
4: y7 1c,vi1

13: y1 2∗

y1 3∗
9: y1 3

y1 2
4:

D1
5: y1 3 7: y1 4 10: y1 4 10: y1 2 10: y1 2

11: y1 4

y1 3

y1 2

y1 1

11: y1 4

y1 3

y1 2

y1 1

11: y1 4

y1 3

y1 2

y1 1

11: y1 4

y1 3

y1 2

y1 1

13: y7 1∗ 9: y7 1 6: y7 1
5:

D7

11: y7 1

y7 3

y7 2

11: y7 1

y7 3

y7 2

11: y7 1

y7 3

y7 2

11: y7 1

y7 3

y7 2

13: y9 1∗ 9: y9 1
7:

D9
10: y9 2

11: y9 2

y9 1

11: y9 2

y9 1

11: y9 2

y9 1

11: y9 2

y9 1

3, 8 → 4:

Sub-CONV-1
4: y8 2c

4:

D4
5: y4 5 6: y4 1 7: y4 4 10: y4 1

10: y4 1

y4 4

11: y4 2

y4 3

y4 1

y4 4

y4 5

11: y4 2

y4 3

y4 1

y4 4

y4 5

11: y4 2

y4 3

y4 1

y4 5

11: y4 2

y4 3

y4 1

y4 4

y4 5

5:

D6
6: y6 1 10: y6 2 11: y6 1

11: y6 1

y6 2

11: y6 1

y6 2

11: y6 1

y6 2

6:

D10
7: y10 1

11: y10 2

y10 1

11: y10 2

y10 1
11: y10 2

11: y10 2

y10 1

13: y8 1∗

y8 2∗
9: y8 1 8: y8 2

7:

D8

11: y8 2

y8 1

11: y8 2

y8 1

11: y8 2

y8 1

11: y8 2

y8 1

10:

D2
11: y2 1 11: y2 1 11: y2 1 11: y2 1

10:

D5

11: y5 2

y5 1
11: y5 2 11: y5 1

11: y5 2

y5 1

10:

D3
11: y3 1 11: y3 1 11: y3 1

13: g02∗ 12: g02
11:

G02

13: g03∗ 12: g03
11:

G03

13: g01∗ 12: g01
11:

G01

13: f∗ 12: f
11:

F


